Patients enrolled in trial
N =60

\ 4

Patients with baseline BDI-II
data (table 1)
N =54

v

Subjects removed from analysis
N=6
Voluntary withdrawal, N = 2

Scheduling or transportation issues, N = 3
Scheduled baseline to be completed, N =1

v

Patients included in BDI-II
LME
N =44
Om=44,3m=37,6m=38,12m =27

v

Patients with only one time point
at time of analysis
N=10
Voluntary withdrawal, N =3
Insurance or scheduling difficulties, N = 3
Not reached second time point, N = 2
Moved from trial center, N=1
Required second surgery, N=1




